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Test result shows in this presentation



Low efficiency

Event rate: 3Hz

For run 1155

oOriginal events: 53000

oPass (track==1) cut: 7323

oPass (triggered by main trigger) cut: 1189
oWith signal in SPD cut: 399

oFADC low signal cut: 280



Time walk correction

X axis: 1/vFADC channel, Y axis: time(ns)

a0 thz2 2
B [ ] Entries BEE0E
73_ [] [] Mean x e ral
r tean B30
[ ]
TB_ AMS = Q005188
B AMS y 1.047
L . "
74— '
L .
L .
72l . —zot
b
TO—
68
BE1- '
G4
620
C L.
&0 coc e e b bovec b e e b
o} 0.005 001 0015 0.02 0.025 0.03 0.035 0.04
. thz_3
C n u" Entrie=s amans
7B ; - MMean x 01729
c ) . P
. o= - AMS x 2004128 B
[~ AMS y 1aTa
r =T
74—
r —tisc
T2 = -
5 . —l1acg
- .
7ol ' -_mc
C FE_
&8 — - —{10c
E 1 P L .
ol . e - i
- - -
F n
el . N
C o
82— - "
r . .
B0 Cii1 1111 1111 111 :J 1111 I 11 H-|

o

.00 0.0

o.01s .02 0028 0032 D035 0.04

22 ¢ nlf

a5

a0

BS

=1s]

75

70

65

&0

pi

pl

01652 /17

-107.6 = 37.66

EB.48 = 0.7177

0 0005 001 0.015 002 0.025 0.03 0.035 0.04

Erapn

10 I he 2 3
L BT
s anic
L e -cusan
L v
5
ol
-5 )
[~ L]

90

—80

—70

—60

50

—40

30

20
10
0

—_10%III|IIII|IIII|IIII|IIII|IIII|IIII|IIII
0

0.005 0.01 0.015 0.02 0.025 0.03 0.035 0.04

After time walk s
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Time walk correction for trigger bar
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X and Y axis are slopes of two PMTs in trigger bar,
time resolution unit: ns

* Time resolution is calculated as
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Result without FADC integral signal cut



FADC channel Integral cut

need all 6 PMTs satisfy the cut

fadc_1_signal {tdc_15 time:=0&8&tdc 15 time<120&&tdc 1 _time=08&&idc 4 time=0}
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fadc 2 signal {tdc_ 15 time=0&&tdc 15 time<120&&tdc 1_time=0&&idc_ 4 time=0}
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PMT readout(wide side)
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Time resolution of single PMT readout(narrow side)
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